4 3 < 2 !
CLOPaY / IDEAL / HOLMES SHEET: REVISIONS
2717 £ CIKIT S == / 27GA 1. 75" THICK MINOR RIB 1 OF 4 :
REV. NO.| ZONE: TE: NO. [ APPVD: DESCRIPTION
3718 / C7X18 / -- s 27GA 1.75° THICK FLUSH i HO ) cONE | DATE: LRGN ND
3720 7 C7X20 / 240U 7 27GA 2° THICK MINOR RIB 01 — | os/2016 - ot | BENGMED- WD SHEED TR
3722 7/ coOxXe2 s -- / 20GA 2° THICK FLUSH
3724 7 C7X24 / 244U 7/ 24GA 2° THICK MINOR RIB
e i
ﬁ | _— view "c”
| = s —_— = = A = — - ol
' T ] /1// VIEW "8"
I E
OPTIONAL GLAZING MAY BE
_L/f Y ‘f Vi I/f Vi s ui STANDARD (DSB OR BETTER) OR
IMPACT RESISTANT GLAZING.
A MAXIMUM GLAZING SIZE (DLO) IS
22"x9-7/8". SEE SECTION B-B
: ON SHEET 2 FOR DETAILS.
T GLAZING MAY BE INSTALLED IN
> ¢ TOP SECTION (NOT SHOWN) OR
INTERMEDIATE SECTION (SHOWN).
™~ TWo POINT
i \ LOCKING.
R T R G
T
A
———MAX. DOOR WIDTH: 14'-2°
. |NUMBER OF #14x5/8" SHEET
DODR HEIGHT A" | e e rinns METAL SCREWS.
UP TO 8'-0° 7
sl e 2 1/4"x3/4" SELF
10°-3* THRU 12°-0 6 iR
{5t e TR L0 5 ING SCREWS.
14'-3° THRU 16’0 8
16'-3" THRU 18'-0° 9
14 GA. END HINGES 14 GA. (MIN.) INTERMEDIATE HINGE
VIEW "B" MIEW “c”
SNAP LATCH ENGAGES
ONTO VERTICAL TRACK. E?EE
T
EEJ‘T’EHS;EE l(-:ﬁ' CE!I-IDE?RN MANUFACTURING PRODUCT CODE
SLIDE BOLT LOCK ' C-DSIU-1D477
ENGAGES INTO
END DESIGN LOADS: +36.0 P.S.F. & —40.0 P.S.F. :
STILE. ol OUTSIDE TEST LOADS: +54.0 P.SF. & ~60.0 P.SF PART NO.. N/A
ACH 9% O ouTsioE HANDLE. LOCK BAR Uniess Stotes Gtherwise | () [:I 8585 Duke Boulerord WINDLOAD RATING
nson,
DOOR. KEYED EMND 'IE'EESEEENIN TOLERANCES ore | npay Tel. No. 513-770-4800 w 6 D P 3 6
HANDLE STILE. EACH SIDE 0= +.031 Buitding Products Company Fox Mo, 513-770-4853
| OF DOOR -gg = i-g{‘}g DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 14'2"W (SEE TABLE)
INSIDE_SLIDE BOLT INSIDE HANDLE ' 000 = . : . 14 T NTS
[53 ENGIN LOCK OPTION. OUTSIDE KEYED LOCK WITH QUTSIDE KEYED LOCK WITH 0000 = :l:.UCI'1} DRAWN BY: SH DATE: 2/10/ SCALE: OWG.
MAR FrEF:D SNAP LATCH LOCK OPTION. LOCK_BAR LOCKING. Pegees = LLLT |CHECKED BY: M DATE: 2/10/14 |SHEET 1 OF 4 |SIZE
FLORIDA B 25455, S #23832, TEXAS P.E. #91513 DMENSIONS. ARE I INGHES.| DWG. NO.: 104861 — A/B VER: TDI
4 3 - 2 1




: & : |
CLOPAY / IDEAL / HOLMES SHEET: REWVISIONS
3717 /7 C7X17 / -- 7 27GA 1.75° THICK MINOR RIB 2 OF 4 : : ,
2 omns - ERGR Lo THIEK MItER REV. NO.| ZONE: | DATE: | ECN NO.|APPVD: DESCRIPTION
3720 + C7X20 / 240U / 27GA 2 THICK MINOR RIB o1 - = = i SRR MR
3722 /7 COX22 / -- 7 206A 2° THICK FLUSH
3724 /7 C7X24 / 244U 7 24GA 2 THICK MINOR RIB

IMPACT—RESISTANT CONSTRUCTIOM: STANDARD ASSEMBLY CONSMRUCTION:

SOLID DOORS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZING ARE
IMPACT—RESISTANT. OPTIONAL IMPACT RESISTANT ASSEMBLY CONSISTS OF ALUMINUM
FRONT FRAME AND SABIC IP LEXAM 9034 (VERSIONS ALSO APPROVED: MR10, 9030,
90318, 90316, 90317, 90311, 90314, 90355) OR BAYER MAKROLON GP (VERSIONS
ALSO APPROVED: SL, AR, 15), APPROVED CC1 PLASTICS IN ACCORDANCE WITH IBC/FBC
2606 AMD APPROVED C1 PLASTICS IN ACCORDANCE WITH FBC 2612,

THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AND INTERNATIONAL BUILDING
CODE AND IS LARGE— AND SMALL-MISSILE IMPACT RESISTANT.

OPTIONAL LITES WITH DSE OR TEMPEREL

THE ENTIRE DOOR ASSEMBLY INSTALLED IN
OR INTERMATIONAL BUILDING CODE BUT DO
FBC/1BC).

ISULATED GLAZING AVAILABLE. OPTIONAL FULL WISION SECTIONS

RMPLIAMCE WITH THIS SECTION MEETS THE WIND LOAD RE
OT MEET THE IMPACT RESISTANT REQUIREMENT FOR

H DSB OR BETTER GLAZING AVAILABLE.

DIREMENTS OF THE FLORIDA BUILDING CODE
'DBORNE DEBRIS REGIONS (REF. CHAPTER 16

SECTION B—B (IMPACT—RESISTANT GLAZING QPTION)

INSULATED DOOR SECTION.

DECORATIVE F.ACADE.\

EXTERIOR OF DOOR. (10) #8-18 x 1/2

SELF—TAPPING SCREWS.
INTERIOR OF DOOR.

RETAINER.
(12) §#8-18 » 1,/2" ALUMINUM FRAME.
SELF—TAPPING SCREWS.

1/4" THICK POLYCARBOMATE
I GLAZING.

SECTION B-—B
MPACT—RESI
GLMENG OPTIgM
PANEL —Wl
THICKNESS y ———
! Y SCREW

A

INSULATED GL@S
THICEMESS

(NO ANT

AL
ol

'.': o ——=——
PUTSIDE . —
FRAME
FRAME

IMPACT—RESISTANT ASSEMBLY DETAILS
DRAWING 104861-A

STANDARD ASSEMBLY DETAILS
DRAWING 104861-B

DESIGN LOADS: +36.0 PSF. & —40.0 PSF.
TEST LOADS: +54.0 P.S.F. & —-60.0 P.S.F.

MANUFACTURING PRODUCT CODE

C=DSI-104 77
PART NO.: N/A

£

W1 Uniess Stoted Otherwise | [ EI ESE5 DH?4?S:EJE?£E WINDLOAD RATING
i TOLERANCES ore | opay o §s50 e W 6 D P 3 6
5 0= .03 Buikling Products Campany Fax MNo. 513-770-4853
Ggg = ig;g DESCRIPTION: 1-3/4" INTELLICORE DOORS UP TO 14'2"W (SEE TABLE)
Tro ) fo 5? 0000 = +.001 |DRAWN BY: SH DATE: 2/10/14 |SCALE: NTS IDWG'B
DESIGN ENGINEER: .o - Degrees = £1/2° [CHECKED BY: SH DATE: 2/10/14 |SHEET 2 OF 4 |SIZE
MARK WESTERFIELD, P.E. Unless Staled Otherwise
[FLORIDA P.E. #48495 NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES. [ DWG. NO.: 104861 — A/B VER: TOI
+ 1



CLOPAY ~ IDEAL / HOLMES SHEET: REVISIONS
T ST v - /S 27GA 1. 75" THICK MINOR RIE 3 OF 4
. W, ; ME: : : . IPTI
3718 /7 C7X18 / -- 7 27GA 1. 75° THICK FLUSH ALV NG CONE: | (BB | ECN O LAREVD L StunTIoN
3720 7 C7X20 7/ 240U / 27GA 2° THICK MINDR RIB 01 - = = N SEE REVISION HISTORY ON SHEET ONE.
37ee £ CO¥ez » -- S 20GA 2 THICK FLUSH
3724 S C7X24 7/ 244U S 24GA 2 THICK MIN "
HEgE — F1—3;’4 THICK MIN.
12 GA. GALV. STEEL TOP ROLLER BRACKET. EACH D
BRACKET ATTACHED W/(5) #14x5/8" SHEET METAL
SCREWS. ADJUSTABLE SLIDE ATTACHED TO TOP
HORIZONTAL (TOP) JAMB JAMB TO SUPPCORTING STRUCTURE ATTACHMENT BRACKET WITH (2) 1/4"x1/2" BOLTS AND NUTS PER
]/ (N0 LOAD FROM DOOR) NOTES: BRACKET.
¥ j}r 1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE TRACK AND THEN FROM THE TRACK TO
5 . THE 2x6 VERTICAL SYP (GRADE #2 OR BETTER) JAMBS. NO LOAD FROM THE DOOR IS
AL TRANSFERRED TO THE HORIZONTAL (TOP) JAMB.
2. ESEF; gERIﬂE JAMB SEES A MAXIMUM DESIGN LOAD OF +252 LB & —-280 LB. PER LINEAR 27 GA. {.016" MIN.) EXTERIOR STEEL
3. ALL JAMB FASTENERS MAY BE (BUT ARE NOT REQUIRED TO BE) COUNTERSUNK TO PROVIDE A SKIN WITH G -40_MIN. GALY... BAKED—ON
FASTENER FLUSH MOUNTING SURFACE POLYESTER PAINTED TOP COAT APPLIED
/" vee 4. A 1/3 STRESS INCREASE FOR WIND LOAD WAS NOT USED IN THE CALCULATION OF ALLOWABLE T -BOTH: SIES - OF STEFL SKIN:
/ ]_\ LOADS FOR ANCHORS AND FASTENERS FOR STEEL, CONCRETE AND MASONRY.
MAX. 0.C. NOTE: 2x6 WOOD JAMBS ARE NOT REQUIRED WITH CONTINUOUS ANGLE MOUNT TRACK. HOWEVER, 3
IF DESIRED ON STEEL JAMBS OR CONCRETE OR BLOCK WALLS, APPROVED FASTENERS AS SECTIONS ARE 1-3/4" THICK (MIN.) PANELS.
DETAILED BELOW SHOULD BE INCREASED IN LENGTH BY 1—1/2" AND INSTALLED DIRECTLY EXTERIOR 27 GA. MIN. GALV. STEEL INTERIOR 27 GA.
. . THROUGH THE ANGLE AND 2x6 WOOD JAMBS INTO THE STEEL JAMBS OR CONCRETE OR BLOCK MIN. GALV. STEEL. THE STUCCO EMBOSSED STEEL P
= WALLS. ANCHORS CAN BE (BUT ARE WOT REQUIRED TD BE) COUNTERSUNK TO PROVIDE A FLUSH TEXTURE IS PREPAINTED WITH A BAKED POLYESTER
MOUNTING SURFACE. CONTINUOUS ANGLE TRACK CAM BE ANCHORED DIRECTLY TO GROUT PAINT. MINOR RIBS ARE PLACED EVERY 4 INCHES
/— 26 VERTICAL JAMB REINFORCED BLOCK WALL OR 3,000 PSI MIN. CONCRETE COLUMN OR STEEL JAMBS, ALONG THE WIDTH OF THE EXTERIOR PANELS.
/ § TOMGUE AND GROOVE JOINTS.
-3 - MEW "E” 14 GA. GALV. ROLLER HINGE. EACH HINGE
. . 1_?ﬁg. 3" TALL 50 KSI U—BAR FASTENED TO END STILES W/(4) #14x5/8" SHEET
T':= 20 GA. GALV. STEEL. METAL AND (4) 1/4"x3/4" SELF TAPPING SCREWS.
(SEE VIEW "B") ‘
; TT———(2) 3" x 20GA. STEEL U—BARS PER SECTION.
—e— ATTACHED WITH (2) 1/4"x3/4" SELF—TAPPING
SCREWS PER HINGE LOCATION. (SEE VIEW “E")
27 GA. (.016" MIN.} EXTERIOR STEEL
SKIN WITH G—40 MIN. GALV., BAKED—OMN
- POLYESTER PAINTED TOP COAT APPLIED
o TO BOTH SIDES OF STEEL SKIM.
r
12 GA. GALV. STEEL BOTTOM BRACKET.
FASTENER ATTACHMENT TO SUPPORTING STRUCTURE SCHEDULES ATTACHED WITH (4) #14x5/8" SHEET METAL SCREWS.
VARV ALUMINUM EXTRUSION & WVINYL WEATHERSTRIP. i
=CENT
ey M SECTION A—A (SIDE_VIEW)
BETWEEN WASHERS
BUILDING TYPE FASTEMER TYPE FASTENERS® |REQUIRED?
E%LQUTW BLOCKB'HALL 1 ::4" x 1-1 :;4»" MIN. EMBED ULTRACON CONCRETE AMCHOR 5—135" 1" 0.0
FILLED BLOCK WALL [1/47 » 1-3/4" MIN. EMBED ULTRACON CONCRETE AMCHOR 10=-3/4" 1" 0.0,
2000 PSI MIN. CONCRETE |1/4" x 1" MIN. EMBED ULTRACON CONCRETE ANCHOR 5-1/4" 1° 0.0, HARLEARILE NG FEDIIET, CRDE
2000 _PSI_MIN. CONCRETE [ 1/4" x 1" MIN. EMBED TAPCON CONCRETE ANCHOR R 1" 0.0, C-DSIU-1D477
PSI_MIN, CONCRET 3/8" » 1-3/4" MIN. EMBED WEJ-IT_ANKR TITE_SLEEVE ANCHOR 20° INCLUDED DESIGN LOADS: +36.0 P.S.F. & —40.0 PS.F. -
14000 PSI MIN, CONCRETE |3/8" x 1-3/4" MIN, EMBED WEJ—IT ANKR TITE SLEEVE ANCHOR 24 INCLUDED TEST LOADS: +54.0 P.S.F. & -60.0 P.S.F. PART NO.: N/A
WOOD FRAME (SYP 0.55 SGY1/2" « 3" |AG SCREW (ASTM A307. GRADE A) 1-5/8" EMBED INTO STRUCTURE 21-1/2" |1 0.D. Unless Stoted Otnerwise | (D) 8585 Duke Boulevord WINDLOAD RATING A
14GA STEEL {0.060" MIN.) [1/4"—14 » 1" [TW BUILDEX TEKS SELF—DRILLING FASTENER 9° 1 0.0 TOLERANCES are [:Iupay Moson, OH 45040 USA
[12GA STEEL (0.105" MIN) [ 1/4"—14 x 1" ITW BUILDFX TEKS SELF—DRILLING FASTENER 15-374"_[1" 0.. &R Tel. No. 513-770-4800 ‘w’ 6 D P 3 6
1/8" STEFL 1/47—14 » 1" ITW BUILDEX TEKS SELF—DRILLING FASTEMER 18-3/4" |1 0.0. 0= .00 Buiding Producls Company Fox No. 513-770-4853
e * FIRST (BOTTOM) ANCHOR STARTING AT NO MORE THAN HALF OF THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR INSTALLED 533 = :-SLIE DESCRIPTION:  1-3/4" INTELLICORE DOORS UP TO 14'2"W (SEE TABLE)
L TR - AT LEAST AS HIGH AS THE DOCR OPEMING. : =ik ; : :
DESIGNQ\EﬁTﬁI-NE—E‘?E'-- e CLOPAY DODES NOT SUPPLY JAMS ATTACHMENT FASTENERS. 0000 = +.001 DRAWN BY: SH DATE: 2/10/14 |SCALE; NTS WG,
ik WESTE.F;!'F'IEL'D“"P:[-E : MINIMUM DISTANCE BETWEEN CENTER OF ANCHOR AND EDGE OF CONCRETE BLOCK: 2-1/2", EXCLUDING STUCCO THICKNESS. Degrees = 21/2 CHECKED BY: SH DATE: 2/10/14 |SHEET 3 OF 4 [SIZE
h PREL Unless Sioted Otherw:
FLORIDA P.E. #48495 NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE N INCHES.| DWG. NO.: 104861 — A/B VER: TDI
+ Z 1

4 3



4 3 < 2 1

CLOPAY ~ IDEAL ~ HOLMES SHEET: REVISIONS
Dl s Gias g LR e s s L0 e R T s
oo . = = = s REVISION HISTORY ON SHEET ONE.

3720 7/ C7X20 7/ 240U 7/ 27GA 2° THICK MINOR RIB g SEE.HEVISIO
37ee / COxee »  -- S 20GA 27 THICK FLUSH
3724 S C7Xe4 /7 244U S 24064 27 THICK MINOR RIB

2" TRACK COMNFIGURATION HORIZONTAL TRACK

DOORS UP TO 800 LBS. SUPPORT BY DOOR

: INSTALLER (TO SUIT). T

NOTE DOUBLE TRACK e DOOR COUNTERBALANCE SYSTEM HEIGHT | "L" JAMB CONFIGURATION ANGLE MOUNT JAMB CONFIGURATION

HEADROOM, HI—LIFT TRACK, : : , , aLipif - DOCRS UP TO 800 LBS. .

FOLLOW-THE- ROOF < 661 70 FIGURATION 2x6 SYP JAMB (IF PRESENT;

TRACK, AND VERTICAL LIFT b 13 GA GALV. STEEL FLAG BRACKET ATTACHED TO 7'-0"| 76 BRACKET MOUNT JAMB COMFIGURATI SEE JAMB NOTES ON SHEET 3},

TRACK ARE AVAILABLE JAMB WITH (3} 5/16" X 1-5/8" LAG SCREWS 7'-8"] 82" 1" DOOR OVERLAP (EACH SIDE} —{ |—

OPTIONS. AND TO TRACK WITH (2} 1/4" RIVETS, g8'-0"| ag” OPTIONAL STOP MOULDING

Hoehi i ot DRtimG T 861 047 b syl WOLL ML, BY INSTALLER (TO SUIT). ONE 5/16" x 1-5/8" LAG

[ & g'-0"1100" REQUIRED FOR BRACKET . o Js 18 GA GALV. STEEL SINGLE—END-STILE |
WND, LOAD RATIG, - ¢ ASERDISRANHGENIE T O, 96" 106" MOUNT. G20/ FasTeneD Witk (1) §B X 1/2° WAFER SCREW. [ i ns s DISTANCES. 55 THE TRAGK BOLTS
' 10°—0"[112" _1/2" 10"
& e e - ; ; {(LE. 3-1/2", 10", AND EVERY
2 . 10-671118 127}, ALSO TWO LAG SCREWS
& %RAﬁL‘;HgKEPEéS;EﬁgE}S" 117 -074124 2-1/2" X 12 GA GALV. STEEL S T D e
. B 11-6 130" TRACK BRACKETS FASTENED TO | HORIZONTAL TRACK JUNCTION.
£ 120 156 oD s W st X TT7/16" 1.D. ROUND 14 GA. GALV. STEEL CENTER HINGE
o a L= EorldZ, i e B FAEH MU IS TENER, FASTENED TO SECTION W/(4) EACH
A VERTICAL TRACK TO BE BRACKET 13 =0°1148" EXCEED 14" ON-CENTER, Filts e SHEer T Sheewe
MOUNT COR CONTINUCUS ANGLE 13 —6°]154 : .
g (1-3/4"2-1,/4"%12 GA MIN.) 14'—0"[160" 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH §14x5/8
Z MOUNT. ALL BRACKETS/TRACK 14'-6"1166" SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER EMD HINGE.
d CLIPS ARE 12 GA. GALV. STEEL. 1g|—0 i 2" GALV. STEEL TRACK FASTENED TO
BRACKETS/CLIPS ARE ATTACHED 15 -6"1178" 12 GA GALV STEEL TRACK BRACKETS . N
TO TRACK WITH EITHER TWO 1/4” 16 —0"]184" WITH EITHER (2) 1/4" DIA. RIVETS OR 27 DA, 7-1/2" LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
RIVETS OR ONE 1/4" BOLT AND 1661190 (1) 174" % 5/8" Bﬂ_?:l_l & NUT PETR —
hE ECE-- ;33 RN LHR BRACKET {2-1/2" x 5-3/4" x 12GA)
- 18'-0" 208" PREPARATION OF JAMBS BY OTHERS. ggggrgn WITH (2) 1/4" x 3/4" SELF TAPPING
3" TRACK CONFIGURATION o . DOUBLE TRACK
DOORS 800 LBS AND OVER. DOORS 800 LBS AND OVER OW_HEADROOM OPTION
CENTER HANG REQUIRED FOR s (AVAIL. FOR BOTH 2" AND 3" TRACK)
NOTE DOUBLE TRACK DOCRS OVER B' HIGH.
HEADROOM, HI-LIFT TRACK, 5 [ DOUBLE. HORIZONTAL
?%E%WENT%E}ES%EL LIFT % a 5 ot 1" DOOR OVERLAP (EACH SIDE) — :
EE?%.JSARE AVRIAELE // V T N ] ] -- 2x6 SYP JAMS (IF PRESENT; OPTIONAL STOP MOULDING BY DOOR INSTALLER (TO SWIT).
: 4 3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK SEE JAMB NOTES ON SHEET 3. R 18 GA GALV. STEEL DOUBLE—END-STILE FASTENED
EECJE ?ﬁE’ FE%%?T&[}N[NG THICKNESS: 0.101", ANGLE THICKNESS: 0.080". HORIZONTAL TRACK ’ g’&ﬁ%‘;ﬁ*’&*ﬁf WITH (1) #8 % 1/2" WAFER SCREW.
DOES NOT AFFECT THE MIN. ANGLE DIMENSIONS 3-1/8" x 2-7/8" SL%E'FEOFETR En;ﬂnosgﬁ 8 ;
- IT).
MIHOEECAD SR VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING o ALLER - /4" x 2-7/8" MIN. x 0.0807 TAPERED 5
1= JUNCTION. TWO 1/4" BOLTS (—— FROM LAST MOUNTING AMGLE. SEE LAG BOLT MOUNTING AT TRAGK { "
T . 4 GA, GALV. STEEL CENTER HINGE
& il & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION CONFIGURATION BELGW. FASTEVEL 16 EEETON. Wit it
T \_ 7/16" 1.0. ROUND #14x5/8" SHEET METAL SCREWS.
- ; ADDITIONAL MOUNTING SLOTS PUSH NUT FASTENER.
8 SPACED AT 127 CENTERS. 0.101" THICK 3" GALV. STEEL TRACK FASTENED 14 GA, GALV. STEEL ROLLER HINGES FASTEMNED TO END —
0 1 " TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
: 12" ON CENTER TAPERED ANGLE WITH ONE 1/4°x5/8" BOLT & AND (2) 1/4 SELF TAPPING SCREWS PER END HINGE.
z . NUT AT EACH MOUNTING SLOT.
i WS 3" DIA. 8-1/2" LONG STEM BALL BEARING STEEL ROLLER.
g7 ;: SECTION C—C MANUFACTURING PRODUCT CODE
S 33 ME. %" TRACK BOLT AND NUT AT EACH PREPARATION OF JAMBS BY OTHERS. C-DSIU-1D477
& f MELHHNESZI8T RECHTIEN; DESIGN LOADS: +36.0 P.S.F. & —40.0 P.S.F. S Hs 1
ir o DOOR TVERTIGAL TEST LOADS: +54.0 P.S.F. & —60.0 P.S.F. =
=2 - TRACK LENGTH Uniess Stoted Otherwise 8585 Duke Boulevord WINDLOAD RATING
| 2 EC 22" e -I}I Moson, OH 45040 USA
|2 e Wi oA =iy ?:—ID: 72 TOLERAMNCES ore i3] npay TE?.S(:;]&, 513-770-4800 w 6 D P 3 6
- 00 e /5 e o 0 = +.031 |Buiding Producls Compony  Fax No. 513-770-4853
L MERE ol SENAT S E SO SII PR A TESME | 8T S0 [DESORPTION. 1-3/4" WIEWEORE 000K UP To T (52 e

o = e T e B 3-1/2° 107, 227, 347, 000 = +.005 :

S T e . 14— 156" 467, ETC.). ADDITIOMAL LAG SCREWS LOCATED AT 167, 28", & 0000 = +.001 DRAWMN BY: SH DATE: 2/10/14 |SCALE: NTS DWG.
DESIBYN ENGINEER:.~ =1/ 16-0] 180" 40" FROM BOTTOM. TWO LAG SCREWS ALSD LOCATED ABOVE Degrees = %1/2° [CHECKED BY- SH DATE: 2/10/14 |SHEET 4 OF 4 |SIZE
MARK WE\ST‘EﬁftlE:L‘D‘.' LP.‘E. ey :g*:gl gg;ﬂ IMFERIICALHHDRIIDNTAL TRAJ:I{ JUNCTH}N Unless Staled Otherwise DWG N‘O R 1I:I4BE1 e AJ.I"’B VER' TDl
FLORIDA P.E. #4B8495 NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES. . - :



